
Cara cosa
6a. Passamezzo

Giacomo Gorzanis
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Intabolatura di Liuto, v.2 (1563), p.27. Encoded by Douglas Towne and; edited by Sarge Gerbode.

4) Notes one course lower in orig.
3) Repeat of c deleted from 4th course, here
2) Note one position to left in orig.
1) c in orig.
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6b. Padoana
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3) Note one course higher in orig.
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6c. Saltarello
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



 





 









 


  

1)









  
  








2









   



 










35 







  

  
 





   
  













  








  
  

   







     





 




40






  















    



   





   
  








2)







  
    




























45 









   






  































































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2) Note one position to right in orig.
1) h in orig.











  


































50







































 

 














   



 


















 















 







55












     









  
  






























 




 























 








    

60







 
 

  








 

   






   

  







  
  

   


  












 














     









 

65


  









  

 





 



  
  

      









  









    










-7-


